oot 1s
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0oooo

#include<stdio.h>

int main(void){
int a;

int *pA;

a=b;
(1) = &a;

printf ("0 0 a0d000%d000\n", a);
printf("O0 a000000O (2) 000 \n", &a);
printf ("0 000 pAOOOOOO (2)D0\n", (3));
printf("xpAO O O%d OO0 \n", *pA);

printf("-—--——————————— \n");

*pA = 13;

printf("O0 aO000O%d0O0O0O\n", a);
printf("O0 a0 0O0O0O0OO (2) 0DOO\n", &a);

printf("O 000 pA0OOOOO (2)00\n", (3));
printf("pAOUOO%A 0O OO \n", *pA);

return O;




02 000000000000 (x,y)DO0OOOO0O00O0O (tx, ty) 000000
O000000000000000 translate) 0000000000 O0OOOO
00000 0x,y, tx, ty U0 DD OO 0OD0O0O000O00O00O0000000000O0
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(x+tx, y+ty) DOOO

goood
#include<stdio.h>

void tramnslate(...0...){

/ DO000000000=*/

int main(void){

int x, y;
int tx, ty;

printf("00 (x, yOUODOOODOOODOODOON\n");
scanf ("%d %d", &x, &y );

printf("O00000000O0O00O0DOO0OON\n");
scanf ("%d %d", &tx, &ty );

translate(...0 ...);

printf ("0 00000 (%d, %) 000O000O0O0O\n", x, y);

return O;
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03. 000000000 bOODODODOODUODOD ax+b=00000O0O0
LinearEq() 000 0000000000000 OOOOOOOOOOOOOOO

goon
O00ax+b=00000 x=-b/al000

/DDD1 ~
bbb ax+b=0000
U0 a, bODOOOOOOOO

23
2.000000 x + 3.000000 = oJOJO x = -1.500000 OO0




4. 00000obobo200000000000b0000bO0O0bLbOObbOo
g
gooon

#include<stdio.h>
void swap(int *px, int *py){

/0000000000 =%/

void sort(int *nl, int *n2){
if (*n1>#*n2)
swap(nl, n2);

int main(void){
int na, nb;
printf("20 000000000000 \n");
printf ("0 0 AO"); scanf("%d", &na);
printf ("0 0O BO"); scanf("%d", &nb);
sort(O0, O);
printf("O0000O0OO0O0O0OO0O\n";

printf("O000O%d 000 \n", na);
printf("O00000%d000\n", nb);

return O;
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s UDbOU0mtdbooogobobuogobn
00O void sort3(int *na; int *nb, int *nc)
gogbood

gogoo

#include<stdio.h>
void swap(int *px, int *py){

/0000000000=%/

void sort3(int *na, int *nb, int *nc){
if (*na>*nb)

swap(na, nb);

0 0000000000000/

int main(void){
int nl, n2, n3;
printf("O000000O00DO0O00O0DOO0ON\n";
printf("O0 OO O"); scanf ("%d", &nl);
printf (OO QO QO"); scanf ("%d", &n2);
printf("O0 OO O"); scanf ("%d", &n3);

/ D0000000oox/

printf("O00000O00O0OO0O0OO0O0O\n";
printf("%d %d %d\n", nl, n2, n3);

return O;
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6. 000D 400 4000000000000 OODOO0OO0O0O

void reduceFrac(int m1, int m2, int *na, int *nb)
goooooonoooooooodoodoodoonooonooooooon
godoobooooooooooooood

goood
#include<stdio.h>

int gcd(int n, int r){
/ 0000000/

void reduceFrac(int ml, int m2, int *na, int *nb){
/ 0000000x*/

int main(void){

int nl, n2;
int num=0; //numerator [0
int den=0; //denominator [ [

printf("O000000O00O0O0O\n");
while(1){
printf ("0 0 :"); scanf("%d", &nl);
printf("O0 :"); scanf("%d", &n2);

/ 0000000 =x/

printf ("%d/%d=%d/%d\n", nl, n2, num, den);

}

return O;
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